DESCRIPTION

#0OF UNITS

| BEARING, BALL, RADIAL, SHIELDED, 35
. MIL BORE (ogs#32684)

4

- BEARING, PILLOW BLOCK, SKF, 2-3/16"
BORE (ogs#3342)

I BEARING, PILLOW BLOCK, 2-3/16" BORE
| (0gs#3337)

"'BEARING, PILLOW BLOCK, SKF, 2-5/8"
BORE (ogs#32654)

- BEARING, BALL, RADIAL, SEALED, 25 MIL
' BORE, FAFNIR (ogs#32651)

BEARING, RETAINER ASSEMBLY, 11" X 1-
15/16", SKF (0gs#3346)

BEARING, FLANGE MOUNT, 4 BELT
(ogs#3330)

BEARING, BALL, RADIAL, RUBBER
MOUNT, 5/8" BORE (ogs#3319)

BEARING, BALL, RADIAL, FLANGE
MOUNT, 2 BOLT, 5/8" (ogs#3317)

BEARING, ROLLER, 1-11/16" BORE,
SEALED (ogs#3349)

BEARING, BALL, RADIAL, NO SEAL, 35
MIL BORE, 6307 (ogs#14257)

BEARING, BALL, FLANGE MOUNT, 25 MIL
I BORE (ogs#32653)

BEARING, BALL, RUBBER MOUNT, 25 MIL

BORE !ogs# 2652)

BEARING, BALL, PRESSED METAL
HOUSING, 3/4" BORE (ogs#3280)

BEARING, BALL INSERT, 1-7/16" BORE
(0gs#3276)

BEARING, ASSEMBLY, SEAL, B & G 189165
(0gs#3274)

BEARING, ASSEMBLY, SEAL, B & G 118844
0gs#3269)

BEARING, ASSEMBLY, SEAL, B & G 189105

(0gs#3272)

BEARING, ASSEMBLY. SEAL, B & G 189134,
W/ IMPELL (ogs# 3266)

BEARING, SKF, 2-11/16" BORE (ogs#3341)

BEARING, PILLOW BLOCK, SKF, 2-3/8"
BORE (ogs#3343)

| BEARING, BALL INSERT, 1/4" BORE
(0gs#3275)

27

BEARING. RETAINER ASSEMBLY. 10" X 1-
11/16" (0gs#3345)

EARING, FRONT, B & G, BP-
| (0gs#306268)

389N

20

BEARING, FRONT. B & G, 185241 (ogs#3331)

HOUSING, IMPELLER, BEARING (0gs#6746)




DESCRIPTION # OF UNITS

BEARING, REAR, B & G, 185240 (ogstt3344) 2

BEARING, ASSEMBLY, SEAL, B & G 189162 | ©
(ogs#3267)
BEARING, ASSEMBLY, SEAL, B & G 189163 4
(ogs#3273)

BEARING, REAR, B & G, 185240 (ogs#3344) 5

BEARING, PILLOW BLOCK, SKF, 1-15/16" 1
BORE (ogs#3340) '




